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entity AND_GATE is
port(A,B : in BIT;
f: out BIT);
end AND_GATE;

architecture TWO_INPUTS of AND_GATE is
begin

f<=A and B;

end TWO_INPUTS;

and_gate

Y=ab — f
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entity MUX_2_TO_1 s
port( DO,D1:inBIT;
S:inBIT;
Y :out BIT);
end MUX_2 TO 1;

architecture arc_ Mux of MUX_2 TO 1 is
begin
Y <=((not S) and DO) or (S and D1);

end arc_Mux ;
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entity MUX_2 TO_1is
port( DO,D1:inBIT;
S:inBIT;
Y : out BIT );
end MUX_2 TO 1,

architecture arc. Mux of MUX 2 TO 1 is
signal NET1, NET2, NET3 :BIT;
begin
NET1 <= not S;
NET2 <= NET1 and DO;
NET3 <=S and D1;
Y <= NET2 or NET3;

end arc_Mux ;
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Conditional Assignment when ....else NTIP9 o

NTIRZON N1an

var <= value_1 when condition_1 else
value_2 when condition_2 else
value_3 when condition_3 else

value_n;

Selected Assignment with ....select NTI7o o

NTIZON N1an

with expression select

var <= value_1 when choice_1,
value_2 when choice_2,
value_3 when choice_3,

value_n when others;

NITIRON 'Y N1ya MUX 2 -2 1 2D DX NN

when .... else NTIP9 NATYa MUX2 - 120

entity MUX_2_TO_1 is
port( DO,D1:inBIT;
S :in BIT;
Y :out BIT);
end MUX_2_TO_1;

architecture arc_Mux of MUX_2 TO 1 is
begin

Y<= DO when S='0' else
D1;

end arc_Mux ;
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entity MUX_2 TO 1is
port(
DO,D1:in BIT;
S :in BIT;
Y :out BIT
);
end MUX_2 TO_1;

architecture arc_Mux of MUX_2 TO_1 s
begin

with S select

Y<= DO when '0',

D1 when others;

End arc_Mux ;

with ....select NnTIF® MtV MUX2 > 12D
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Data<="11000011"; -- MIN1'22 Nnwn
Data<=x"C3"; - 170 T o7 NNWN

Data<=(others =>'0"); -- nim'on D% 0 naxn
Data<=('1",'1',0THERS=>'0"); -- 117 0 Wxwn 721 7,6 nia'o7 11 naxn
Data(5 downto 2)<="1011"; -- 27Ty 5 N0 71 vn naxn
Data(2)<='1"; -- 7272 2 n1a'o7 1 nax¥n
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Data_1:ininteger range 12 downto O; -- 4bit

Data_2: ininteger range 0 to 255; -- 8bit
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STD_LOGIC - 0>y N1Inn Nn1nwn
STD_LOGIC_1164 — 090N NNN 1TAIN NINWN
N DINN N7'NNA NNNXNN
library IEEE;
use IEEE.STD_LOGIC_1164.all;
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STD_LOGIC omwin BIT ni7na - BIT 72U TAn e
XnaIT
port( DO,D1:in STD_LOGIC;

S:in STD_LOGIC;
Y : out STD_LOGIC);

. 727 BIT_VECTOR nniTa oyl STD_LOGIC 2alon 0'0 7w wnn 201N 1ol e
NNAIT
a:in STD_LOGIC_VECTOR (7 DOWNTO 0);

b:in STD_LOGIC_VECTOR (0 to 7);

nx I'n VHDL



